Exercice 1 :
Calcule les expressions suivantes poura=-2;b=+3;c=-letd=+1:

A=a+b+c+d B=a-b+c-d C=-a+b-c-d;
D=-(a+b)+(c+d) E=-(a-b)—(c—d) F=(a-b)+(c—d).
Exercice 2 :
Calculer les expressions suivantes poura=+2 ;b=-4;c=-3etd=+1:
A=a+b+c+d B=a-b+c-d C=-a+b-c-d;

D=—(a+h)+(c+d) E=—(a—b)—(c—d) F=(a—b)+(c—d).



CORRIGE

Exercicel: a=-2;b=+3;c=-1letd=+1.

A=a+b+c+d B=a-b+c-d
=-2+(+3) +(-1) +(+1) =-2-(+3) +(-1) - (+1)
=2+3-1+1 =2-3-1-1
=2-1+3+1 =7
= 3+4
=1

C=-at+b-c-d D=-(a+h)+(c+d)
=—(-2) + (+3) - (-1) - (+1) =—((-2) + (+3)) + ((-1) + (+1))
=+2+3+1-1 =—(2+3)+(-1+1)
=6-1 =—(+1) +(0)
=5 =-1

E=-(@-b)-(c-d F =(@-b)+(c-d)
=—((-2) - (+3)) - ((-1) - (+1)) =((-2) - (+3)) + ((-1) — (+1))
=—(2-3)-(-1-1) =(2-3)+(-1-1)
=—(-95)-(-2) =(-5) +(-2)
=4+5+2 =5-2
= +7 =7

Exercice2: a=+2;b=-4;c=-3etd=+1.

A=a+b+c+d B=a-b+c-d
= (+2) + (-4) + (-3) + (+1) =(+2) - (-4) + (-3) - (+1)
=2-4-3+1 =2+4-3-1
=4-3+2+1 =6-4
=-7+3 =2
=4

C=-a+b-c-d D=-(a+h)+(c+d)
=—(+2) + (-4) - (-3) - (+1) =—((+2) + (-4)) + ((-3) + (+1))
=2-4+3-1 =—(2-4)+(-3+1)
=2-4-1+3 =—(-2)+(-2)
=-7+3 =+2-2
=4 =0

E_—@ b) — (c—d) F =@-hb)+(c-d)
=—((+2) - (-4)) - ((-3) - (+1)) =((+2) - (-4) + ((-3) - (+1))
=—2+4)-(-3-1) =(2+4)+(-3-1)
=-6-(-4) = (+6) + (-4)
=6+4 =+6-4
=_2 =42



